APHG Ch. 2.1-2.2 Q&A (pp. 47-57)

	1.
	2/3rds of the world’s population is clustered in which 4 regions?

Which of these regions…

     a) has the largest number of people?
     b) is the most urbanized?
     c) includes Indonesia, the 4th largest country in the world.

     d) have much of its population concentrated along the plains of the Indus & Ganges Rivers? 



	2.
	Name the 4 areas where people tend NOT to settle.
In what kinds of place HAVE humans tended to permanently settle throughout most of history?


	3.
	Slovakia & Albania have the same arithmetic density (110).  This means each has the same number of ________________ per sq. km.
The United States has a low agricultural density because it has a ____________ amount of arable land
AND a _______________ number of farmers.                                (small/large)  

                 (small/large)  
Egypt’s physiographic density is 3, 503 people/square kilometers.  Egypt’s arithmetic density is 73 people/square kilometer.  Egypt has a ____________________ % of land available for farming.

                                                                    (small/large)  

	4.
	Explain how one might compute a country’s Natural Increase Rate (NIR)
Country X has a crude birth rate of 14/1000 and a crude death rate of 8/1000, while country Y has a crude birth rate of 40/1000 and a crude death rate of 10/1000.  Which country has a higher natural increase rate?  What is the rate for each?
In general, high NIRs are found in __DCs while low crude birth rates would found in __DCs.

At what percent is the world’s NIR today?  _____%



	5.
	The average number of births women bear in their lifetimes is _______________________________.
To study fertility, demographers most often use which statistic?



	6.
	According to the Population Reference Bureau, Africans have the largest rates of natural increase, fertility, and infant mortality AND the lowest life expectancy.  Give at least 3 reasons why this is so.
A)

B)

C)
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	7.
	The highest natural increase rates are found in countries in which stage of the demographic transition?
The lowest crude birth rates are found in countries in which stage of the demographic transition?

Rapidly declining crude death rates are found in which stage of the demographic transition?

The highest crude death rates are found in countries in which stage of the demographic transition?

The U.S. has a birth rate of approximately 14/1000.  What stage of the demographic transition does this number place the United States?


	8.
	Explain how the Agricultural Revolution caused a burst of population growth about 8000 B.C. . 
How did the Industrial Revolution of the mid-1700s push countries in Europe and North America into stage 2 of the demographic transition?

What type of revolution moved countries from Africa, Asia, and Latin America into stage 2 of the demographic transition?  Explain.
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                                        (A)                            (B)                           (C)
  

	9.
	The shape of a country’s population pyramid is determined by what statistic?
Population pyramid A with a large base indicates a country with a large percentage of ______________.

Pyramid C might illustrate the population of a country in which world region? ___________________.

Which pyramid best represents countries with slow population growth like the United States?  _____
Which pyramid represents a country with rapid population growth like Kenya?  _____

Which pyramid represents a country with zero or negative population growth like Italy?  _____



	10.
	Explain Malthus’ theory on overpopulation.  
According to the graph on page 70, what two factors did Malthus NOT accurately predict?


